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MBAOVY «[leTckuin cag KombUHUpOBaA
MEHIO Ha 25 NIONA?2
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Kalla pucosas c Mac/om 150 200 227 307
'
G
e KaKao Ha MOJIoKe 160 200 89 118,67
[aa]
0 Mac/io CIMBOYHOE 5 10 37,4 74,75
xneb nweHUYHbIN 30 40 67,8 90,4
UTOro 345 450 421,2 | 590,82
2 COK 150 200 74 98,67
3aBTpak
UTOro 150 200 74 98,67
LM n3 csca;mem Hanycn:l C 150 500 102,67 | 1253
KypuLen n cMeTaHoM
g eXXWKU B TOMaTHOM coyce 150 200 164 2198
° orypeL, CBexxuit 20 20 8 8
KOMMOT U3 CBEXUX N10A0B 150 200 84,75 113
xneb pxaHou 40 50 74,72 93,4
UTOro 510 670 434,14 558,7
% i NMPOXKOK C TBOPOrom 50 60 167 222
=
2 Yyai cnagKkum 160 200 36 40
UTOro 210 260 203 262
MaKapOHbl OTBapHble C 140 150 128,8 168
MacC/IOM C/INB
T nKpa KabaykoBas ¢ pacT 40 50 58 52 73.15
i Mac/1OM : :
Yyam cnagkuim 190 210 36 40
xneb nweHUnYHbIN 30 40 67,8 90,4
UTOro 400 450 291,12 | 371,55
UTOro 33 AeHb 1615 2030 1423,46 | 1881,74




